MEOESHLE (22) Bt At Ty
TR 294 12 A cP  MB
($/D  ($/0) A#L—t
OS5 ARSMOAAB DK EHSHABBILITELEDRYTT, 2016418 | 345 [ 172 119.23
28| 285 195 116.08
HAE R RIS 34,949 A/t 3] 290 [ 235 11403
48| 320 237 11093
B E R 66,034 A/t 5] 3256 | 275 11012
68| 330 259 106.71
201712 A DOFEILE KCP(RTACPM50% LRI < ACPM50%)MD70%E. 78] 295 | 246 104.98
812 BMB®M30% a2 B1H~i<Z BXRBDAEBL— M RMRLET, sg| 285 | 232 102.34
98| 295 259 102.98
CP wig | 575 lwen | 575 ] 108 340 | 301 104.81
MB wen| 485 118] 390 274 109.26
BB weg | 1713.95 M 128] 380 330 116.98
2017418 435 385 115.77
12 A® JRRHm AR 66,034 Mt 28 510 | 409 114.11
38| 480 318 114.04
FHERBMREDEIS - 48] 430 | 339 11111
66,034 — 34,949 = 31,085 Mt 58 385 [ 333 113.25
A& Z=1,000MHHYIZ2.1 M (kghom® #Ex2 DFABLET DT 68| 385 | 308 111.92
31,085 = 1,000x2A1 = 6528 m/m @ 78| 345 | 341 113.43
BIERHIZ2.1 (kghdm® BER2 DNENNTET, ga| 420 | 396 110.93
0.78 X 21 = 1638 m/m® @ 98| 480 | 463 111.74
LREB(O+Q)IEBRELMA THERENTET. 105] 575 | 485 | 11395
( 6528 + 1638 )+ 252 X 1.08= 74.99 M,/ m? 11A8] 575
CHEBL 128
LTEREDHECREHHHIC 74.99 BEmELET, 2018418
* JHERIIA 28
3A
FEBZBOREHSEILULTORYTY, (BA) 45
tERL HEREEES 5A
01~ 50m® 5076 A/m® - 582.6 M, m?® 65
51~100m® 4536 A/m’® — 528.6 M,/ m?® 78
101~200m® 4320 m,/m* - 507.0 M,/ m?* 85
201~300 m® 4104 A/m® — 4854 M,/m? 98
30.1~400 m® 3780 M/m® — 4530 M,/m? 108
40.1~ m® 3564 M,/m* - 4314 B,/m® 118
XEAREHEME(CP)NEFHE XKML TWNELTH, KRAFTLROERMAYTT,
BRIER wEE A
1884 —  (((12BCP+11ACP)/2)x70%)+(11AMBX30%) 118k A% 2012/10/1~[ 0.26 0.26
2884 —  (((1BCP+128CP)/2) x70%)+(12AMBX30%) 128 kA% 2014/4/1~| 0.26 0.52
IgHE — (((2BCP+1HCP)/2) x70%)+(1 EMB X 30%) 1AXBE 2016/4/1~] 0.26 0.78
41HE — (((3BCP+28CP)/2) x70%)+(2BMB x 30%) 2AXBEB M/kg
S5AME — (((4BCP+3ACP)/2) x 70%)+(3BMB X 30%) 3AXAGE &R  HERE HBE
6HE4 — (((5BCP+48CP)/2) X 70%) +(4 AMB x 30%) ARRBE 2014/5/1~| 1.2 2.52
TARE — (((6BCP+5HCP)/2) x70%)+(5 AMB X 30%) SAXAE
8ANE — (((7TBCP+68CP)/2) x70%)+(6 BMB X 30%) 6AXRE M/kg F/m3
9IAKE — (((BBCP+7ACP)/2) x 70%)+(7BMB x 30%) EES- 3
108814 — (((9ACP+8HCP)/2) X 70%)+(8 AMB X 30%) BAXAE KMBFE:ERE. 1058/t
MARE — (((10BCP+9ACP)/2) x70%)+(9AMB x 30%) 9FkRBEE
12854 —  (((11ACP+108CP)/2) x70%)+(10BMB%30%) 108k AE




